Math for Today Journal
Week 12
NO.2.3.2; A.4.3.5; G.9.3.1; M.12.3.5; DAP.17.3.1

	Victoria and Ginger counted the number of marbles in their jars. Victoria had 457 and Ginger had 832. Which girl had an even number of marbles? Support your answer.
	Daniel’s mom was adding pennies to his piggy bank each week. She put 2 in the first week, 4 in the second week, and 8 in the third week. What will she put in the next week? Explain the pattern.
	Draw and identify the number of lines of symmetry in the figure below.


	Meters
Centimeters
1

100
2

?
3

300
Write a multiplication sentence to find the number of centimeters in 2 meters.

	Joey and Cade were spinning numbers on a spinner that had 2-1s, 2-2s, and 3-3s. Was this a fair spinner? Explain. Write a fraction to represent the chance to spin each number.
	Write a 3 digit odd number that has 15 tens.
	Mrs. Henderson wrote the following numbers on the board. 
4, 7, 13, 25, 49

What was the pattern? (Hint:  2-step)
	Which one of the shapes in the train below has the most lines of symmetry?
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	Write a multiplication sentence to find the number of inches in four feet. (Hint:  12 inches = 1 foot)
	Mrs. Johnson is going to place 20 crayons in a bag. Each student must use the crayon they pull out for art class. If Devonte’s favorite color is blue, what is a possible combination of red, yellow, orange and blue that would give him the best chance of getting his favorite color? 
	Mrs. Webb asked her class to write the first 4 multiples of 6 to find out the number of cookies she brought to class. How many cookies did she bring?
	Make an input/output table to show the function +3. Use any number you want.

	Which number has a line of symmetry? Draw to prove your answer.
3  5
	Jennifer was buying ribbon to wrap a birthday present. She needed 1 yard of ribbon. All she had to measure was a ruler with inches. What is 1 yard in inches? What multiplication sentence could she use?
	Mom bought a box of popsicles. It included 4 cherry, 3 banana and 6 grape popsicles. If you reached in the box without looking, what is the probability of picking a cherry popsicle? Write a fraction to represent the chance of getting cherry.
	Susie said the only factors of 12 are 2 and 6. Is she correct? Explain your reasoning.  


